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ENGLISH VERSION

Instruction : (1) Write answers of all questions.
(2) All questions carry equal marks.

1 Give the meaning of communalism and explain the reasons of
Communalism.
OR
1 Discuss the reasons of dowry in detail.

2 Give the meaning of social problem and explain its functions
and disfunctions.
OR
2 Give the meaning of social problem and describe its
characteristics.

3  Objective of study of social problem.
OR
3  Give the meaning of structural problem and discuss the
untouchability as a cast inequality problem.

4  Give the meaning of family problem reveal the reasons for
divorce as a family problem.
OR
4  Discuss the problem of disestablished development oriented
aspects.

5  Write short note. (Any Two)
(1) Regional Disharmony
(2) Remedies for Communalism
(3) Problem of consumerism
(4) Problem with crisis of values.
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